

7.1 and 7.2 Evaluating and Simplifying Rational Expressions

Evaluate the following for $x = 5$ and $y = -3$

a) $\frac{x-2xy}{y} = \frac{(5) - 2 \cdot (5) \cdot (-3)}{(-3)}$
 $= \frac{35}{-3}$

b) $\frac{2x-4y}{3x} = \frac{2 \cdot (5) - 4 \cdot (-3)}{3 \cdot (5)}$
 $= \frac{22}{15}$

May 13-11:40 AM

Non-Permissible Value(s) OR Restrictions

These are values that we CANNOT use to evaluate an expression

* We look only at the denominator to determine our non-permissible values.

$\frac{3}{ab}$
 $a \neq 0$
 $b \neq 0$

$\frac{-2xy}{x+2}$
 $x+2 \neq 0$
 $x \neq -2$

$\frac{3x}{x^2-4} = \frac{3x}{(x-2)(x+2)}$
 $x \neq \pm 2$

$\frac{6x}{x^2-5x+6}$
 $\frac{6x}{(x-3)(x-2)}$
 $x-2 = 0 \Rightarrow x \neq 2$
 $x-3 = 0 \Rightarrow x \neq 3$
 $x \neq 2, 3$

May 17-3:21 PM

Steps for Simplifying Rational Expressions

1. Factor numerator and denominator completely
2. State restrictions or non-permissible values
3. Simplify expression using rules of mathematics

May 17-3:27 PM

$$\frac{27a^3}{12a} = \frac{9a^2}{4}$$

$a \neq 0$

$$\frac{3y^2 + 5y}{2y} = \frac{y \cdot (3y + 5)}{\cancel{2y}}$$

$y \neq 0$

$$= \frac{3y + 5}{2}$$

May 17-3:29 PM

$$\frac{x^2 - 3x - 10}{x^2 - 4}$$

$$= \frac{(x-5)(x+2)}{(x-2)(x+2)}$$

$x \neq \pm 2$

$$= \frac{x-5}{x-2}$$

May 17-3:31 PM

$$\frac{16 - m^2}{2m^2 - 5m - 12}$$

$$\frac{(4+m)(4-m)}{(2m+3)(m-4)}$$

$2m+3 \neq 0 \quad m-4 \neq 0$
 $2m \neq -3 \quad m \neq 4$
 $m \neq -\frac{3}{2} \quad m \neq 4$

$$\frac{(4+m) \cdot -1}{(2m+3)}$$

3	x - 24
-8	
-5	
3	- 8
2	2
2	- 4
2	- 4

May 17-3:32 PM

$$\frac{(4-m)}{(m-4)} \rightarrow \frac{-1(m-4)}{(m-4)}$$

Dec 2-1:51 PM

Assignment:**Pg. 402 6 odds, 11 odds****Pg. 407 2-4 odds
8
10 and 12 odds**

May 17-3:32 PM